D 128

18 (K) 28 (&)
k% Bmb —A&Y | |#za =4 E —AHY
EERDE EXS=E
S =P O=E5) 59| (3 |UE)#Bav~/S /M40
L |xmE Bk 6] |¥ |dE)&mav~/s N2-3 50
i ag{b K 0.5 :\ (B &Ry /M4 60
T |[BEESE@x2mRTAR) 20| [, |UE) By~ N5~ 70
4 LEE 2f [~
~ |&E= 08| [& |4E 206
£ |aEfLiFCiEAR 18] A
A A 7| (Y |zme - gL 2 x20m) 21
Yo hoERe 5| |7 [mes st mmLEx2m) 14
M EESE 2 |4 [EE i
4 |LEm 12 | [casis 5
5 [ROLLSK 1.2 CABLA— B 20
FELavYA 05| (&  |Aif=Aaim 5
& |BiE 01| (Y |#itzx 1
2 A gz 0.8
B 43 206 i [ZAl=< 0.8
L%‘ OET T 3
» [BoL 30| || EOLLSH 2.5
P AL 25| o [EBE 15
z |AB 5| |F  |EARE 0.05
HWYBCE 2 |Y 3 4
b [ FRAOY 1 ({’; WYBCE 05
Yo EOLssw 1
Z BiE 015 [ [E¥AY 30
b CFEim 0.7] |v Jayal—(Gvk) 25
i I B h—ra—y 5
B BLRAL GEm BRiRE 5| |~ |&EE 3
) 20| ¥ [Lam 1
FOET 20 ,} AU—Jh 1
| [FLons vn) 08 $55 3 05
7 [spE 3| |5 [&%E 04
N kS 05| |9 [SL&£S 0.03
5 [whpsz—F 4 | ‘
5 EOLLSK 08| (= |[(LR)5FHE 25
z |BiE 05| (£ |EE 20
+  |EL&S 003| |- [FyTiHA 15
vy |FEuasus 05| € [Az 7
v [T R 7
~ |z 140 ,; LR BBR—TF 4
N iy s 0.5
FoUB)SYIRFYY 15| |4 [EALLIW 05
2 4 |FEraUA 0.3
7 o |cEm 0.1
= z  |BiE 0.4
I ) 0.03
7 15 120




D 128

58 (A) 68 (&) 78 (K) 8H (X) 9H (&)
4 BRd —A&Y | |#zs BRd —A&Y | |mus BRf —AEY | |#zs BRf —AHY | |#zs BR4 — A%y
FES = RS = FRA= FRS = FHA=E
S EaxkE®) 72 % BEX(EHR) 60 [7 [3uR/so 50| 2 |[HBAXER 65 (L |UBDBTSEABAY [#~m3 200
F EExER 80| [= [HEBXK(FE) 70 |7 |ayR/isy 60| [T, [ctgeeams- LA X 1em) 6| |2 [EKWTSEARAY [1ha~6 280
A ik 0.5 '/:‘f XKz FHE 6 :: ‘E (A)EBABE - BAL( X 1om) 4 'f (E)WTIEARAY F 300
4 XKz FHE 70y HE 206| | BB 5l |5  |[BAKE@x2m2512) 20
g [FE 206/ |4 B} (1.50m) 20| | [BE 1
g, (&3 206| |4 |HEY K9-FEAEL (2 x 20m) 12f [£ [AZ 1| (4 [TASS 10
A |BAKE Q@ x2enRS5/R) 30 3, |Eme Ht-HEAL(2x20m) 8| 3. [T EHT 3 s 5
= ELIIES 35| (& [EazBaE BsdE( %0 BAESHE 1 EOLLSD 3 | (KR 30
A [DECAlTe 20| A |hEAEmE RIS diso| (B [R—ar (Efh) 5| [B | 2| |2 [Eu$(1.5em) 20
¢ Az 15 |F  |[Zt-4asm 4 [® [ax s ¥ |[Lom 0.7 A2 10
5 [Eenaids 7 % 4z 1.2 ? EX wl |2 [ 055 7;_\ ¥ 5
5 |[#3¥i 1 | [ROL&SK 27| ) [Ledtng 30| | [HLEA 07| | |REOLLSK 48
o EEALLSHY 4 |z LB 27] || T ¥Hvk 10| |gp £ |[#YA 1
%5 |[#YA 2l lm | BE 18| |4 |AB 10| |& |&EL 206| |,v  LEE 1
3 [RXE 15 HYA 17| |& |55 H 05| |L Hh |BiE 0.3
o [EE 15[ |8 | TARA 0.2 INE 35 BRIl (2 X 3emR T4 R) 20{ |L  [EFL LA 5
o cARA 05| |» i3 4 O [HS55 2| |7 |AE 1 |® [k 150
L et g| 2 - i| | [mm 20 |2
© 5 [geL 0] T [Lraszx—T 3 | [gszm@q o 18] |2 (4 206
B mEs z = A L (2R B [
n|EE 5 N 25| [y [FErIVAL 05/ [ |EA 30| |3
4 [Cepivg 0|z |AZ | g |BE 04| |5 |AZ 8 () DKL b LB 25
n |EE 20| |z [fEED DB 08| | [SL&S 002 |z [CR)SVOWVWAIFA 1 |7 |t 4
# |AB 5| ([0 |EOL&LIW 2| (¥ |REASE 25 ELVIF(RFAR) 4 (o (& 0.1
T | 5| | 7 |&Y)—4 2 ROLESY 35| ¥
it |[FLbho vk 05| |2 [EE 30| [¥ |[E¥RF—X 15 =a 3| 7 [¢H)Fovay— 20
HHE o| 't [as 5| |, B 45 Bis 03 '|J Fo_Y 20
L P 5 £z 2| |} MlYE FZLF 2l | [EELSH 23
. |EFL LA 4 HhE 5 [ [LBECHHE 8 & 50| |z |REE 07
Nk 115 hHE 6| |~ [(BDULE 0.5 z
th BHZ 5| in BEVSIES 15 AW 30| |
O |[EHZ 30 ZFL LA 4| 1B [ hATA LS ES3m) 15 INAEE 20
7 7K 120 | [Zw3Y 10 L 10
- Y 5 T—EVE ) 1.5
T B ERLYL LY 9 EOLLSK 2.7
BEE 2.2
YyAZ 40 LB 1
Y543 1
7—EVEGR) 1




1268 (A) 138 () 148 (JK) 15H (K) 168 (&)
BB B4 —AZEY | |#xzs B4 —AZBY | |#se BR% —A&Y | |#zs B4 —A&Y | |#is BRf —AHy
_ FRDE FRD=E FRS=E i N FRN=E
A [BEXER 59| |2 |2y (LED 50| (£ |mEk (&) 60| [ |HEk () 59 |7 |3y 50
S [rmz sw o | |[momsoam o0 |3 |HEEXER 0| 1 [raE B o 2 [umis 60
Y |Esmiex 05| ¢ 4 |[KHE B 6| (U [3alek 05| |
7 |[BETERV 20| |-, |%EL 206 Rz FFE 7 (B BEYLEE 15| |5,
B |BH 1 3 4+ |£= 1.3
F|EEEROnAEYY) 15| |4 |GB)AL—H2emfE) 50| (2L [4EL 206| 3, [&H&E 2| |4 |&E 206
Y \EE 15| |2 |BE 2 migT 4| |3
e 5 Bl of] B [#mexamzsiz) 20 [ [ELCES 1| | |[EFEmema) 20
N R TERS 5| 1B [caAsks 8| 2 [(Lh)>Tom 25| & [ oEkE 5| M [4m Qo) 10
7 |bpE o| |2 |t ol |7 [mmms o) 25| U [y55m il Y [xos 50
R 1| | [|[URLESRS 4 |2 [TASS 15 |5 [BOLLW 3| |7 |[EE 30
A |EAL&LSKW 1|y, |LB% 3| (4 [XKIE 35| | |LE#E 1.1 oY 20
Yy [FERVaVVA 06| |v [EBOLLW 2 R AIZeL 20| |fn |EA 05| | |AB 10
- |BiE 05| || F A 10| |2 |BtE 05| |5 |®=BY 3
ZL&S 0.02| |A |E®3Y 25| |A |EDBERH DY) 1| |9 EF /3ty 0.3
* A Jayay— 15| |1I& [Baz 5 43 206 |V [54m 1
S ) 206 |2 [F/Tuh 5| [ [fae 3| [B b [— 1
- 7 |[ESTun 5| |5 [mmm 3 f& B— 2 A (G ff) B 5| |, [rxtorFryT 4
» o |[ERY 25| |y, |BEE 3 |k LEE 1|z [E®3Y 15| | |[kRhE2—L 4
R Ebhe @IY) 15 [¢ | HSFH 12| [ [BALLSW 0.8 (82) M ATRES (20m) 6] |1 (LR BRHR—F 3
o [EpdY 10| |5 | LB 08| [v |k 50 AS 5| A [FEAESHE 2
(ORI G 7 ] o e 5| |4 | BiE 04| [ (32) Z & BT 08| [F |FExaruAt 0.4
Y [EOLLSH 2 LsS 003| [~ [FAlE 30 WYBTE o5 || [m—yzx 0.1
7 & 15| [¥ 7 sl 25 EOLsSn 21| X [&& 0.55
¥ o 1 17:13 _R—a2 (Em) o] 10 [z 5 Bt 22| |2 |L&S 0.05
s [P35 05| |=  [WBEVAIFAT o] |* [wyEcE 1 e 12| | [EZU=L 3
= |cza 05| |z [EZ 20| | [BEL&SW 2 S 1| |z [2 80
2 I =ES 20| m |&BE 1.5 _
| RULR/\L GETR) BBtk 10 |17 |AB 5| |41 [LE%E 1 FEPIM - B2 AR L (1 X 1cm) 9 Cobtig 60
PARES 30 Hha=(8) 3| |B [USHH 05 #rbd-BAELA X 1em) 6| |F |AS 7
AB 7 +0y 3| | |Cxm 05 AEFEZRSAR 5| % (wTiE 1.2
EII ELVEH(RTAR) 5 /5t 05| |~ E=ES 25| |~
5 |ERE 5 (LR ABR—F 4 3; INEALE A 80 x4R 25 $ (B) 2)—LF—X 18
I & (8~10cm) 5 EOLLSK 05| |p AS P
L EEEHE 1 FExraryA 04| [z IMRE 7 g |EoAIL—vER 50
—~ KR ASR—F 4 BiE 05| [~ EOLLSK 2| [<
N EALESK 05 ZL&S 0.03 FHYA 1
B [FEUaVYA 0.3 A 110 BiE 0.35
D |ZEH 0.1 BIVET LA 4
# | ate 0.5 HLE 1
T CLgS 0.03 K 110
b1 120
({E)3—5 )Lk /\70
(E)3—F Lk $1100




198 (A) 208 (K) 218 (JK) 22H (K) 238 (%)
e BRd —A%Y | |wze BERt —A&Y | |mza BR4 —A%Y | |wza BRd —A&Y | |sze BR4 — A%y
EhRDE EkRDE EkHE EkHE ERNE
Z  |maxEH 60 |7 |2y (AR 50 Lt BEEX (B so| (B |mEk(EE) 60| X [mEkER) 59
(} LiA=ENEFir) 70 ,i v/ GLED 60 :), *kHE B 6 Et BE*(EHR) 700 |2 [kHE B8R 6
4 PREIE FEE 6| |, 3 |[BREEEX 05 |4 |[RHEE EE 6 Et g bk 0.5
RbiE R 7 |y 5 |Gwssem- EALA X 1om) 9 RbE R 1 |4 |EmE@xemz542) 15
=3 E |GRebs- EaLU X lm) 6| |4 ~ | XEKE 12
2 [&E 206| |4 |&EL 206 (5 |EVLIIFES 15 |2 |&EL 206| (£ [H&T 3
2 7 |AB 5 A AB 5
R ey ML (2x 2om) 21 () ISIRFFY #aol |2 [CRTEHET 5| 12 [#mexamz542) 20 Y [TERE 5
y  [EAttmsL@om 14 |2 [o51FFEy so| % () AL a—y 5| 1B [zz 20| [~ [¥55E 08
BB |7 |oasarFsy 60| |4 [FLLLFR542) 05 |3 XD R 30| |, [EE 2
g [BSAIER 25| | |EfAaih 4 |0 [ZFm 1L [Lenrd 20| |z |EBL&LIWD 2
~ o [FEWNZES 25| [ =P 1] |[hacikWbe55m) 10 LB 05
T | KR 20| | [EEF—X 5| | [EOLLOW 15 [AB 10| |x (B 0.5
¥ |hacaAWLbeS5m) 20| v [EERY 25| (Bl [FEOLVA 08| [4 [TYEHYE 5| |48
D |EEAS 10 &) Javyay— 20| | (B 02| (A [AY 3 |D (4R 206
gi (B EPVAITA 8| |V [FiTun 3| & [eLss 002] | [IZAIC 05| |&
= FLLLH(RFAR) 0.8 |) L YAVLUP)] 3 5 :Ijg H£= 0.5 'g BH UERA 15
5 | 15 |5 BEE 25 |7, G ah 206 * Y55 1 = XiR 80
z  |RALLSKH 35 [ [H24i 1 |4 | hEH 6 |7 |AZ 10
o X 25| |z LB 1 |5 |o=zuemmss 1 |l |HL—# 1| GWTYYE—=R 5
- | TARA 07| [ [BiE 03| [# [£%L 25| |4 |[USHh 4 (1 [£= 05
o K 6] |3 cL&S 0.03 FoF YA 15[ |5 (LR DR —F 4| |5 ([HSFm 0.5
L< 5 B |AB 8| |[# kb FyvT 2| [* [BOLLSKW 3
) [WhFECHmE 8 ~A—av (ER) 7| |* [E=2 5 HRE—Y—R 13 [P |raE 17
N 25) |7 [amou—sra— 0| |7 [ROLSE 25 |1 [eamov=x 1| |# [&E 1
oL 2| |, |E& 0| 7 [&E 250 | [BOL&SK 1 7_rr #YA 1
s ey 15| |5 [@EDhR—la—y 5| | [LEg 13 [ |[Fryk 1 | ThSRb 0.5
v RALESY 23| [y [3tY 05| |z [S&Fmh 1 |~ |[EAESHE 1 [ [EELit 10
n |PTEE 1.7] || S5 05| & [MDHLE 0.06| |/ |FELOLYA 05| ¥
L | E(%E 11 |6 [(LRASR—=F 4| |50 b BB 05| |€ [hiBs 5
' A FELOAVYA 03| |? [EBER 20 (@ |ZL&S 0.04| |V [HIEH+(2x2cm) 25
A |pzy sl || [&s 0.5 ;|< 5iE 2| |# B sl || [E=m 25
o |puacE 1| |7 oL 03| |5 [mA1LER 20| [~ o [enE 5
o #HYA 09| |5 a—VRE3—F 1.5 E# 15 =Y 10} |5 h&HZ 6
# | LB 07| |= & 100 B S5 05 YFLKAIR 5 |p  |B&E 5
< |EoLLSH 035 |4 LM HHR—F 4 ($F) R—)La—> 5| | |EFL LA 4
7K 07| |1 (E)==7—* 30 EOLLSK 0.5 AS 4| |~ K 120
* FExoavyH 0.3 (82) Zl# B fn 05
BEEELVEVOL—R 30| |~ BiE 0.5 B 2.2 (E g +Ey— 40
/I ZL&S 0.03 EOLLSKH 2
;"; Th Sk 03 g i
» = 110 YSH 0.5
- S 0.5
MEFL 4




